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1. (20%) [Limits]

® %) limld o e m
© (5%) lig%f_% : @ (%) liirgsin(%), x>0

2. (30%) [Differentiation] -

dy
e

() (10%) Given y=3u+1, u=x7, x=1~-s, find ;ﬂ
ds

(@) (10%) Given 2x°—2y*=5, find % and

(c) (10%) Find the slope of the curve x* —3xy*+3’ =1 at (2,-1).

3. (30%) [Integration]

(2) (10%) szes"dx : () (10%) chosxzdx

© a0 [ EE2

4. (10%) [Application]
3

Find the arc length (38 &) of the curve y=3cé—+2L from x=1to x=2.
_ x .

5. (10%) [Application]
Find the area bounded by the graphs of x*+)*=4 and r=4coséd.




